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F e HF4 i
E1hE 24%20 SR
FE1thE| 30&1 65 2-1 AEH—TH 150%10
FE1ithE| 30%&3 65 2-1 AXEH—TH 150%10
E1thE 30%&4 SHIR
F1thE| 30%&5 65 2-2 XKH—TH 15029
E1thE 30%6 65 2-3 AH—TH 1508
FE1thE| 30%&7 65 2-4 XKH—TH 150%&7
1 E| 3185 SHIR
E1E 31%&6 SHIE
1 E| 32%2 SHIR
SFE1hE 33F IR
E1hE 3% SHR
E21thE| 14%&3 45 3 EAN=TH 2%&7
21 E| 14356 45 3 HEN=TH 2%&7
FE2ithE| 1781 57 3 IEWZ=TH 6% 1
21 E| 1782 SHIR
E21thE| 17%3 56-2 8-1 BAZTH 676
21 E| 1784 57 2 ERN=TH 6%4
SE24hE 17885 SHR
21t E| 1756 SHIR
E2HhE| 1787 57 4 IERN=TH 653
21t E| 17%8 57 5 ERNZTH 6752
E21thE| 17%9 56-2 8-2 IERNZTH 6%10
21t E| 65%2 SHIR
2t E| 67%&1 56-2 4-1 IERNZTH 6723
21t E| 67%&3 56-1 1 ERNZTH 6729
E paickd] 67%5 SHIR
o= 67%6 SHR
F2ithE| 6787 56-2 4-6 EAZTH 6%18
FEoHE| 67%8 56-2 4-5 IENZTH 6517
F2ithE| 6729 56-2 4-3 EAZTH 6%16
FEoHE| 67%10 56-2 4-4 IENZTH 6315
F2ithE| 67&11 56-2 6 EAZTH 6%12
FEoHE| 67812 56-2 7 IENZTH 679
F2ithE| 67713 56-2 5-1 EAZTH 6% 14
FEoHE| 67%14 56-2 4-7 IENZTH 6322
F2ithE| 678515 56-2 10 EAZTH 6%7
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FE21thE| 67%16 56-2 1 EWZ=TH 678
F2ithE| 67817 56-2 4-10 AZTH 6320
FE21thE| 2% 56-2 5-1 EWZ=TH 6% 14
21t B 73% 56-2 5-1 BAZTH 6% 14
FE21hE| 741 56-2 5-1 ERZ=TH 6%&14
21t B 74%2 56-2 5-1 BAZTH 6% 14
FE21hE| 75%&1 56-2 5-2 ERZ=TH 6%&13
21t B 75%2 56-2 5-1 BAZTH 6% 14
FE21hE| 76%&1 59 1-1 ERZ=TH 4% 21
21t B 76%2 56-2 4-2 BAZTH 6721
FE21hE| 76%&3 56-2 4-9 ERZ=TH 6%&19
2t B 17&1 55 10 EAZTH &1
E21thE| 771%2 56-2 1 EAZTH 6%26
21 E| 77%3 56-2 3 ERN=TH 6%24
E21thE| 771%4 56-2 2 BAZTH 6%25
21 E| 7785 SHIR
E21thE| 78%&1 56-1 2 BAZTH 6%28
21 E| 78%2 SHIR
SE24hE 78%3 SHR
21 E| 78%4 56-1 3 ER=TH 627
E paickd] 79%4 JHIR
3t E| 28%2 SHIR
SE3ihE 28%3 HIR
3t E| 28%4 SHIR
E3thE| 28%&5 63 1-4 IERNZTH 2%6
E3tth B 28%6 66 2 AHZTH 154&11
SE3ihE 28%38 HI
FEIHE] 28%9 63 1-3 IENZTH 2%3
E3tthE| 28%10 63 1-2 EAZTH 2%4
FEIHE] 28%11 63 1-1 IENZTH 2%&5
E3tthE| 29%1 55 13 EAZTH %4
E3tth B 29%2 SHiE
E3tthE| 29%3 54 8-2 EAZTH 8&17
E3hE 29%4 54 6 ER=TH 8% 14
E3tthE| 29%5 54 1 EAZTH 8%4
E3thE| 29%6 54 7 BERZTH 8%&15
FE3tthE| 29%s3 52 15 EAZTH 10&1
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3 E 29%12 HIR
FE3tthE| 29%%13 SHIR
FE3thE| 29%15 54 10 EWZ=TH 8&1
FE3thE| 29%16 54 8-1 BAZTH 8% 16
E3thE 20817 54 8-3 EANZTH 873
FE3thE| 29%%18 54 8-4 BAZTH 8%2
E3thE 29819 54 8-4 EANZTH 832
FE3thE| 30%&3 SHIR
E3HE 30%4 55 9 ER=TH 1522
FE3thE| 30%6 SHIR
E3thE| 30%&7 55 6 EWZ=TH &9
3t E| 30%&s8 55 7 EAZTH 7820
E3thE| 30%9 55 8 EAZTH 121
3t E| 31&1 55 12 BEAZTH 7%&3
FE3HhE| 31%&2 55 11 IEWZ=TH &2
3t E| 31&3 SHIR
E3thE| 32%2 SHE
3t E| 34%2 SHIR
FE3HhE| 35%&1 54 3 IEWZ=TH 8&11
3 E 35%2 54 3 IERN=TH 8&F 11
FE3HE| 35%4 54 6 IEWZ=TH 8%&14
3 E 35%5 54 5 IERN=TH 8% 13
E3thE| 35%6 54 14 IERNZTH 8%&7
3t E| 35%&7 54 15 ERZTH 8%8
E3thE| 35%38 54 4 IERNZTH 8%12
3t E| 36%&3 SHIR
E3thE| 36%&4 54 13 IERNZTH 8%6
FEIHE] 36%&5 54 12 IENZTH 8%&5
E3tthE| 37%&3 JHIR
E3tth B 38%&3 SHIR
E3tthE| 38%&4 55 3 EAZTH 1%16
FEIHE] 39%1 54 1 IENZTH 8%&9
E3tthE| 39%2 54 15 EAZTH 8%8
E3tth B 39%&3 SHIR
FE3HE| 39%4 52 13 EAZTH 10%&15
FEIHE] 39%5 52 14 IENZTH 10816
FE3tthE| 39%6 SHIR
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E3HhE 39%7 54 14 ER=TH 8&7
FE3tthE| 39%&s8 SHIR
3t E| 40%& 66 2 XHZTH 154% 11
FE3thE| 40%1 1 5 IERATH 431
E3HhE 40%3 52 12 ER=TH 10814
FE3thE| 40%4 SHIR
E3HE 4151 55 5 IER=TH 7%18
SE3HhE| 4152 55 1 ER=TH 1&E14
E3tthE| 41E5 SHIR
FE3thE| 41%8 SHIR
E3thE| 41512 55 1 EWZ=TH &4
3t E| 41813 54 15 EAZTH 8%8
E3thE| 41%&14 55 4 EAZTH 1&17
3t E| 41515 55 3 ER=TH 71%&16
E3thE| 41%&16 55 2 BAZTH 71%15
3t E| 41517 55 1 ER=TH 1&14
E3thE| 41719 SHE
3t E| 42%2 SHIR
FE3HhE| 441 55 17 IEWZ=TH 78
3 E 44%2 55 22 ERZ-TH 7E13
E3thE| 44%3 55 15 IERNZTH 7%6
55 16 ENZ=TH 1%
FE3HE| 44%4 55 19 IEWZ=TH 710
3 E 44%5 55 14 ERZ-TH 755
E3thE| 44%6 55 19 IERNZTH 7%&10
3 E 44%7 55 18 ERZ-TH 7%9
E3thE| 44%38 55 18 IERNZTH 7%E9
E3tth B 44%9 SHIR
SE3E 46%1 HIR
E3tth B 46%2 SHIR
E3tthE| 4633 JHIR
E3tth B 46%4 SHIR
FE3HE| 47%1 53-1 1 IEWZ=TH 9%&1
3= 47%2 SHR
3t E| 4773 52 11 ERZ=TH 10%&13
3= 47%4 SHR
FE3tthE| 47%5 SHIR
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3 E 47%6 HIR
FE3tthE| 47%&7 SHIR
3 E 4788 HIR
FE3thE| 47%&9 SHIR
E3thE| 47% 1 52 8 EWZ=TH 1085
FE3thE| 48%2 SHIR
E3thE| 53%2 52 3 EWZ=TH 10Z&10
FE3thE| 5471 52 9 BAZTH 10%4
E3tthE| 54%2 SHIR
FE3thE| 5473 52 8 BAZTH 10%5
E3tthE 54%&4 SHIR
3t E| 54%5 SHIR
E3thE| 55% S
3= 56% SHR
E3thE| 57%& SHE
3= 58% SHR
FE3HhE| 59%1 52 6 IEWZ=TH 1087
3t E| 59%2 SHIR
E3thE| 5973 SHE
3t E| 59%&4 SHIR
E3thE| 60%&1 52 4 IERNZTH 10%9
3t E| 60%&2 52 4 ERZTH 10%9
FE3HE| 61%&1 52 6 IEWZ=TH 10%&7
3t E| 61%&2 52 7 ERZTH 10%6
E3thE| 61%3 JHIR
3t E| 62%&1 52 5 ERZTH 10%8
FE3HE| 62%2 52 10 IEWZ=TH 10%&3
FEIHE] 63%&1 52 2 IENZTH 10812
E3tthE| 63%2 52 3 EAZTH 10%&10
FEIHE] 63%3 52 1 IENZTH 10811
E3tthE| 6472 JHIR
3= 70% SHR
FE3HE| 71%1 46 10 ERN=TH 1&11
FEIHE] 7182 46 10 EWN=TH 1&11
E3tthE| &3 JHIR
3= 11%4 SHR
FE3tthE| 7121 SHIR
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3 E 72%2 HIR
FE3tthE| 13%&7 46 4 BERN=TH 1254
46 5 EWN=TAH 1%&5
46 7 EN=TH 1%&7
FE3HE] 73%8 46 8 EWN=TAH 1%8
3t B 73%&9 SHIR
E3thE 73%10 46 6 EAN=TH 1%56
3B 13%F11 46 3 ERN=TH 1253
E3thE| 73%12 46 9 EWN=TAH 110
3t B 73%13 46 12 ERN=TH 129
E3thE| 75%&1 45 5 EWN=TAH 2%&10
SE3tth B 75%2 45 4-1 EN=TH 2%8
FE3HhE| 75%3 45 4-2 IEW=TAH 279
SE3tth B 75%4 45 4-1 EN=TH 2%8
FE3HhE| 76%1 46 2 IEW=TAH 152
SE3tth B 76%&2 45 7 EN=TH 2%2
FE3HhE| 76%3 46 1 IEW=TAH 11
SE3tth B 76%4 46 2 EN=TH 122
FE3HhE| 76%5 45 7 IEW=TAH 2%&2
E3tth B 766 45 6 EN=TH 2%1
E3thE| 76%7 44 4 IBERN=TH 4%14
E3tth B 77%&3 SHIR
FE3HE| 78%1 44 10-2 ERN=TH 472
E3tth B 78%2 44 9 EN=TH 4819
E3thE| 78%3 JHIR
E3tth B 78%4 SHIR
E3thE| 78%5 JHIR
3 E 79% 45 8 IER=TH 2%3
E3tthE| 8071 43 5 ERN=TH 6%15
FEIHE] 80%&2 44 13-2 EWN=TH 475
E3tthE| 80%3 44 10-1 ERN=TH 41
E3tth B 80%&4 SHIR
E3tthE| 80%&5 JHIR
FEIHE] 80%6 42 7 EWN=TH 5%&2
E3tthE| 80%&7 JHIR
FEIHE] 80%&8 44 7 EN=TH 4&17
FE3tthE| 80%&9 44 10-1 BERN=TH 431
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FE3thE| 80%&10 SHIR
FE3tthE| 8011 SHIR
FE3thE| 80%&12 43 4-2 EWN=TAH 6313
FE3thE| 8013 43 4-2 ERN=TH 6%13
E3thE 80%&15 44 13-2 EN=TH 4385
FE3thE| 8016 SHIR
E3thE| 80%&17 44 7 EWN=TAH A&7
FE3thE| 8018 SHIR
E3thE| 80%19 SHIR
FE3thE| 80%%20 SHIR
E3thE| 80%&21 43 4-1 EWN=TAH 6% 14
E3thE| 80722 44 11 EN=TH 433
E3thE| 80723 44 1 EAN=TH 411
3t E| 8024 44 15 EN=TH 4%9
FE3HhE| 80%25 44 16 IEW=TAH 4810
E3hE| 80726 44 13-1 EN=TH 476
FE3HhE| 81%&1 44 3 IEW=TAH 413
44 6 EN=TH 4%&16
FE3HhE| 81%&2 44 11 BR=TH 473
3t E| 81%&3 44 5 EN=TH 4815
E3thE| 8184 44 7 IBERN=TH 417
3t E| 81%&5 44 7 EN=TH 4517
FE3HE| 81%6 44 13-2 ERN=TH 435
3t E| 82%&1 43 2-1 EN=TH 6%9
E3thE| 82%2 JHIR
3t E| 82%3 43 8-2 EN=TH 6%2
43 10 ERN=TH 654
43 6-1 EWN=TH 6316
43 6-2 ERN=TH 6% 17
43 7-1 EWN=TH 6318
43 7-2 ERN=TH 6% 19
E3tth B 82%&4 SHIR
E3tthE| 82%&5 JHIR
FEIHE] 82%6 43 8-1 EWN=TH 6% 1
E3tthE| 82%7 44 1 ERN=TH 473
FEIHE] 82%8 43 9 EN=TH 673
FE3tthE| 83%&1 SHIR
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3 E 83%2 HIR
FE3tthE| 83%&3 SHIR
FE3thE| 83%&5 43 9 EWN=TAH 673
FE3thE| 83%6 SHIR
E3tthE| 83%&7 SHIR
FE3thE| 83%s8 SHIR
E3tthE 83%&9 SHIR
FE3thE| 83%10 SHIR
E3thE| 83& 11 SHIR
FE3thE| 83%12 SHIR
E3tthE 84%&1 SHIR
3t E| 84%2 43 9 EN=TH 6%3
E3thE| 8473 S
3t E| 85%& 43 3-1 EN=TH 6% 11

43 3-2 IEW=TAH 6% 12
3t E| 86%&1 43 2-1 EN=TH 6%9
E3thE| 86%&2 43 1 EAN=TH 675
3t E| 86%&3 43 1 EN=TH 6%&5
FE3HhE| 87%2 43 2-2 IEW=TAH 6710
3t E| 87%&3 SHIR
FE3HE| 87%4 43 11 ERN=TH 675
3t E| 87%&5 SHIR
E3thE| 88%1 42 1 IBERN=TH 5%6
3t E| 88%&2 55 20 ERZTH &1

42 2 ERN=TH 5%12
3t E| 88%&3 44 14-1 EN=TH 4%7
E3thE| 88%5 44 13-2 IBERN=TH 435
FEIHE] 88%6 43 2-2 EWN=TH 6310
E3tthE| 88%&7 42 9 ERN=TH 5%&5
FEIHE] 88%8 42 8 EWN=TH 5%&3
E3tthE| 88710 42 9 ERN=TH 5%&5
FEIHE] 8811 42 9 EWN=TH 5%&5
E3tthE| 88%&14 43 2-2 ERN=TH 6%10
E3tth B 88%15 SHIR
E3tthE| 88%16 44 14-2 ERN=TH 478
3t E| 89% 42 1 IEN=TH 5%6
FE3tthE| EES 42 3 BERN=TH 5%13
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FE3thE| 911 48 1 EWN=TAH 71%4
37 7 ERETHE 232
FE3thE| 91%&2 40 2 EWN=TAH 3%&10
SE3HhE| 92%1 42 4 IEWN=TH 5%&14
E3thE 9272 41 1-1 EN=TH 3%8
FE3thE| 92%3 27 5-1 ERN=TH 9% 13
E3HE 9274 32 10 ERMTA 35
FE3thE| 9285 41 1-2 ERN=TH 3%&7
E3thE 92%6 41 1-3 EN=TH 3%9
FE3thE| 93%& 27 5-2 ERN=TH 9% 14
E3thE 94% 32 8 ERMTA 3%2
FEIHE| 95% 32 8 SERETHE 3%2
FE3HhE| 97% 27 5-2 IEW=TAH 9% 14
3t E| 98%& 45 2-1 EN=TH 2% 1
E3thE| 99%& 45 3 EAN=TH 2%&7
3t E| 1002 SHIR
E3thE| 102% 45 1 EAN=TH 2%6
42 10 EN=TH 5%4
E3HhE 1081 45 2-2 ER=TH 2%4
3t E| 1082 45 2-1 EN=TH 2% 11
E3thE| 109% 41 3 IBERN=TH 3%&2
3t E| 110% 41 3 EN=TH 3%2
E3thE| 111% 41 4 IER=TH 3%
3t E| 112% 40 1 EN=TH 3FE
37 8 ERETH 251
3t E| 11281 37 6 ENMETE 2%3
FE3HE| 113% 37 6 ERETH 273
E3hE 11481 42 1-1 IER=TH 5%&9
FE3HE| 11422 31 6 ERN=TH 8%&7
FEIHE] 114%3 42 1-3 EWN=TH 5%&11
E3tthE| 114%4 42 1-2 ERN=TH 5%10
E3hE 1158 42 13 IER=TH 5%8
FE3HE| 116%&1 42 12 ERN=TH 5%7
43 1 EWN=TH 678
E3hE 11682 HIR
E3tth B 11782 SHIR
FE3tthE| 11951 31 1 BERN=TH 8%2
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FE3thE| 120&1 31 3 EWN=TAH 8%4
FE3tthE| 12032 31 3 ERN=TH 8%4
FE3thE| 1221 32 9 ERIETAE 3%&3
3B 122%2 31 5 ERN=TH 8%6
E3thE 12273 31 5 EN=TH 876
3t B 122%4 31 4 ERN=TH 8%5
E3thE| 123% 32 6 ERETH 3&17
33 E 12451 31 2 IER=TH 8%&3
3t E 124%2 31 3 ERN=TH 8&4
I E] 124%3 31 3 EN=TH 8%F4
E3thE| 1244 32 5 ERETH 3%4
3t E| 125%1 31 3 EN=TH 8%4
FE3HhE| 126%&1 37 5 ERETH 2%4

32 7 ERIETH KE
FE3HhE| 12682 32 9 ERETH 3%&3
3t E| 1278 32 4 ERIETH 3%16
E3HhE 12851 27 8 IER=TH 9%&1

27 6 EN=TH 9%&15
E3HhE 128%2 27 7 ER=TH 9% 16
E3tth B 128%3 32 1 ENMETE 3%6
E3HE 129%1 27 10 IER=TH 9%&3
3 E] 129%2 27 11 ERN=TH %4
E3HE 129%3 27 10 IER=TH 9%&3
E3tth B 130% 52 6 ERZTH 10%&7
E3HE 131% 52 7 ER=TH 10%6
EatthE| 8%&1 39 3-1 ENMETE 123
FEAthE| 87?2 44 2 ERN=TH 4812
F4HE| 8%&3 39 3-2 ERImTAE 1%&2
FEatthE| 8%&4 39 3-3 IERETAE 121
FanE 8%5 38 2 IERMTHE 1210
F4HE| 9% 1 39 1-1 ERETH 126
F4HE| 9%&2 39 1-2 ERImTAE 1885
EathE 10% 39 1-2 ERETHE 185
F4HE| 1% 38 3 ERImTAE 1514
F4HE| 1251 39 1-2 ERETH 135
F4HE| 1282 39 1-3 ERIETAE 154
FEathE| 1283 39 1-4 ERETH 18
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SEahE| 12%4 39 1-5 EANET B 1%&7
FAtthE| 20%& 38 1-4 IERETAR 1N
38 1-3 ERMTE 112
38 1-2 ENETH 1&13
FEauE 20%2 38 1-5 ERMTA 1%&16
FEatthE 21%& 38 1-1 ERMTAE 1%&15
FEauE 35%& 37 1 ERMTA 2%&10
EatthE| 37&1 37 4-1 ERMETHE 2%6
FEauE 3782 37 4-2 ERMTA 275
EatE 39% 33 5 ERMTAE 4%16
FE4thE| 40% 33 6 ERETH 4E17
EAME| AL 33 4-1 IERETHE 4315
EathE 4132 33 4-2 IERMTHE 434
EatthE| 42%1 35 1 ERMETA 5%38
EathE 42%2 33 4-1 IERMTE 4%&15
EAME| 4283 33 4-1 IERETHE 4315
w4tz 4234 33 3-1 ENETHE 4&E14
EAME| 4285 33 3-2 IERETHE 437
FE4thE| 43%:1 37 2-1 ERETH 279
EatthE| 43%2 33 7-2 ENMETE 41
FanE 43%3 37 1 ERMTE 2%10
EatthE| 43%4 37 1 ENMETE 2710
EatthE 43%5 35 2-1 IERETAE 5%&7
EatthE| 43%8 33 7-3 ENMETE 4%2
EathE 43%9 33 7-4 IERMETHE 433
FE4thE| 43%10 33 7-1 ERMTE 4%18
EathE 43%11 35 2-2 IERETAE 5&1
F4HE| 43%12 35 2-3 ERImTAE 572
F4HE| 43%13 35 2-10 ERETHE 5%6
F4HE| 43%14 35 2-4 ERImTAE 579
FEatthE| 43%15 35 2-5 IERETAE 5%10
FE4thE| 43%16 35 2-6 ERImTAE 5%&11
FEatthE| 43%&17 35 2-7 IERETAE 5%12
F4HE| 43%18 35 2-2 ERImTAE 5%&1
F4HE| 43%19 35 2-10 ERETHE 5%6
F4HE| 43%20 35 2-9 ERIETAE 575
FEathE| 43221 35 2-8 ERETH 5%&4
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SE4E 43%22 35 2-11 IENETH 5%3
FAtthE| 43%23 35 2-9 IERETAR 5%&5
SE4E 43%24 35 2-8 IENETH 584
EatthE| 43%25 37 2-2 ERMETHE 2% 1
EathE 43826 37 2-3 ERMTA 278
FEatthE 43827 37 2-4 ERMTAE 2% 12
EathE 43828 37 2-5 ERMTA 237
EatthE| 44F1 33 4-1 ERMETHE 4815
FE4thE| 4432 33 4-3 ERETH 43&5
FEatthE 45%1 33 8 ERMTAE 479
26 24 ERETH 979

26 26 ERIETH 9E M

26 27 ERETH 9% 12

26 2 ERIETH 9%&19

26 6 ERETH 9% 24
EAME| 45%2 34 3 IERETHE 634
34 2 ERETH 675
EatthE| 45%3 34 4 ERMETA 6%3
FEatthE 45%4 26 14-1 IERMTE 9%29
EatthE| 45%5 25 3 ENMETE 8%&7
EathE 4587 24 3 ERETA &1
EatthE| 45%8 24 1 ENMETE 1%&7
EahE 4539 24 5-1 ERETA 753
EatthE| 45%10 24 5-2 ENMETE %4
FEAthE| 45%11 26 30 ERETA 9FE17
FEAthE| 45712 26 4 ERIETAE 9% 22
FEAthE| 45%13 25 2 ERETA 876
F4HE| 45514 25 6 ERImTAE 873
F4HE| 46% 32 3-4 ERETHE 3%8
F4HE| 47FA 33 2-1 ERImTAE 4EN
FEatthE| 47%2 26 7 IERETAE 9725
F4HE| 47%3 26 8 ERImTAE 9726
FEatthE| 4754 26 8 IERETAE 9726
F4HE| 47%5 26 8 ERImTAE 9726
FEatthE| 4786 26 15 IERETAE 9731
F4HE| 4757 26 18 ERIETAE 973
F4tthE| 47%8 26 20 IERETAE 9%&S5
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FE4thE| 47%9 26 22 ERImTAE 9%&7
FAtthE| 478510 32 2 IERETAR 3F13
FE4thE| 47511 33 2-2 ERIETAE 4813
F4thE| 47812 33 2-3 ERMETHE 4%6
EathE 47813 33 2-4 ERMTA 4358
FE4thE| 47814 33 2-5 ERMTAE 4812
FEauE 48%1 32 3-1 ERMTA 3% 14
F4thE| 48%2 32 3-2 ERMETHE 3%&7
FEauE 49%A1 32 3-1 ERMTA 3% 14
FE4thE| 49%2 32 3-1 ERMTAE 3F14
FEauE 4973 32 3-4 ERMTA 3%8
FE4thE| 49%4 32 3-3 ERMETE 3FE15
FEauE 5021 32 12-2 IERMTHE 3%&10
FEAhE| 50%3 SHIR
FE4HhE| 50%4 26 16 ERETH 9%&1
FE4thE| 50%&5 32 12-1 ERMETA 3%9
FAtthE| 5181 32 12-3 IERMTE 3F 11
FEAhE| 5182 25 4 ERIETH 81
FEauE 5183 26 14-2 IERMTE 9730
FE4thE| 51%4 26 10 ENMETE 9728
FEAtthE| 51%5 26 9 IERETAE 9%&27
FEAthE| 5176 26 9 ERIETAE 9%&27
FathE| 51%7 26 21 ERETH 976
FE4thE| 51%&s8 26 19 ENMETE 9%4
EatthE 51%9 26 17 IERETAE 9%2
FEAthE| 51210 SE
FauE 5111 Bz
4tz 51%12 SHR
FEatthE| 51%&13 S
4tz 51%14 SHR
FEatthE| 5115 26 14-1 IERETAE 9% 29
EAE| 51816 25 4 EAMETE 81
FEatthE| 51&17 32 1 IERETAE 3%12
EAE| 51818 25 7 EAMETE 8%4
FEatthE| 5119 26 14-2 IERETAE 9730
F4HE| 51%20 26 10 ERIETAE 9728
F4tthE| 52%2 27 4 BERN=TH 9% 12
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EahE| 52%3 27 3 IER=TH 9&E11
FAtthE| 52%4 27 4 BERN=TH 9% 12
EahE| 52%5 27 3 IER=TH 9&E11
EatthE| 54% 27 2 ERN=TH 9%9
EaHhE| 55%1 27 1 IER=TH 9%&10
FE4thE| 55%2 SHIR
FathE| 56% 27 14 ER=TH CES]
EatthE| 57%&1 27 14 ERN=TH 9%38
SE4HhE 57%2 IR
FEatthE 58%1 27 13-2 ERN=TH 9%6
FathE| 58%2 27 12 ER=TH 9%&>5
FEAhE| 58%3 SHIR
FE4thE| 58%4 27 13-1 IEW=TAH 9%&7
EatthE| 59%1 22 9-1 ERMETA 10%2
FAtthE| 59%2 27 4 BR=TH 9%&12
FEAhE| 5973 SHIR
FAtthE| 59%4 21 8 BR=TH 10812
EatthE| 59%&5 22 9-2 ERMETA 10%1
FAtthE| 601 25 3 IERMTE 8&7
EatthE| 60%&3 26 28 ENMETE 9% 13
F4HhE| 60%4 26 25 ERETEH 9% 10
EatthE| 60%&5 26 23 ENMETE 9%s8
F4HhE| 60%7 26 29-1 ERETH 9% 14
EatthE| 60%&38 26 29-2 ENMETE 9% 15
EatthE 6079 26 28 IERETAE 9%13
FEAthE| 60710 SE
EatthE 6011 24 6 ERMTHE 1%&5
EAE| 60812 24 8 EAMETE 76
FEatthE| 60%13 24 8 IERETAE 1%6
F4HE| 60% 14 24 12 ERImTAE 7%8
F4HE| 60%15 24 4 ERETHE 732
F4HE| 60%16 22 10 ERImTAE 103
FEatthE| 60&17 S
F4HE| 60%18 24 4 ERImTAE 7%&2
FEatthE| 60719 26 1 IERETAE 9%18
F4HE| 60%20 26 3-1 ERIETAE 9720
F4tthE| 607521 26 5 IERETAE 9% 23
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FE4thE| 60324 25 1 ERImTAE 8%&5
FAtthE| 60525 24 6 IERETAR 155
FE4thE| 60%26 26 3-2 ERIETAE 9% 21
EatthE| 60827 26 3-2 ERMETHE 9% 21
FEauE 60228 24 8 ERMTA 7%6
FEatthE 60529 26 29-3 ERMTAE 9% 16
FathE| 62% 22 5-2 ERETH 10%17
22 8-2 ENETH 1022
FEathE| 62%&1 22 8-4 ERETH 10%20
22 8-3 ERNETH 1021
FEauE 62%2 SHIR
FEAhE| 6273 SHIR
FEAE| 63% SHIR
EatthE| 64%2 22 5-1 ERMETA 10%16
22 8-1 ERETH 10223
EatthE| 64%3 22 7 ERMETA 10%19
FEauE 64%4 22 6 IERMTE 10%18
EatthE| 6476 SHi
SE4HhE 64%7 SHR
FEAthE| 6478 SHIR
SE4HhE 64%9 HIR
FEAthE| 64710 SE
FanE 647511 Bz
EatthE| 64712 22 1 ENMETE 10%4
EatthE 65%% 34 1 ERMTHE 676
EatthE| 712%1 23 6 ENMETE 1&1
FEAE| 12%2 24 1 ERETH 7&9
F4HE| 72%4 24 1 ERImTAE 79
FEatthE| 71285 23 7 IERETAE 11%&3
FEatthE| 73%1 23 8 ERETA 11%2
FEatthE| 73%2 24 1 IERETAE 7%9
FEatthE| 14% 23 6 ERETA 1%
FEatthE| 75% 23 7 IERETAE 11%&3
FEatthE| 76% 23 6 ERETA 1%
FEatthE| 77&1 23 5-1 IERETAE 11%6
F4HE| 77%2 23 5-2 ERIETAE 11854
F4tthE| 79%&1 23 4 IERETAE 1155
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bR 79%:2 23 5-1 IERETE 1156
F6ithE| 11 21 1 BERN=TH 10&1
FE6ithE| 1%&2 21 1 IEN=TH 1081
Fe6ithE| 2% 21 1 ERN=TH 10&1
E 2%&2 IR
Fe6ithE| KES 21 1 ERN=TH 10&1
E 3%&:2 IR
Fe6ithE| 41 21 9 ERN=TH 10%13
F6ithE| 472 SHIm
Fe6ithE| 5%1 21 10 ERN=TH 10%&14
E 5%2 IR
FE6ithE| 6% 21 1 EN=TH 10%1
HEotE 6% 1 SHR
F6ithE| 1% 21 10 EN=TH 10%&14
6t E| 8% 21 1 ER=TH 10%1
F6ithE| 9%1 21 7 EN=TH 10&11
6t E| 9%2 21 6 EAN=TH 10310
F6ithE| 9%&3 21 7 EN=TH 10&11
6t E| 9%4 21 6 EAN=TH 10310
E6ihE 9%&5 SHR
HEothE 9%6 HIR
FE6ithE| 10%& 21 6 EN=TH 10%10
6t E| 10%2 SE
FE6ithE| 1&1 21 7 EN=TH 10&11
6t E| 11%2 SE
61 E 12%&1 22 3 ENMETE 10%&14
Eo6ihE 12%2 22 12-2 ERMTHE 10%6
FEoHE| 1283 22 12-1 ERImTAE 10885
F6ithE| 12%4 SE
EohE| 125 SHR
FoHhE| 13%1 21 13-1 ERN=TH 10815
Eo6HhE| 13%2 SHIm
F6ithE| 14%1 22 1 IERETAE 10%12
FoHE] 1482 22 2 ERImTAE 10813
F6ithE| 14%3 22 17 ERMTHE 10%&11
FEoHE| 1484 22 17 ERIETAE 10811
Fe6ithE| 15%1 14 2-2 IERATE 127
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FE6ithE| 1522 15 3 ERAETH 116
F6ithE| 15%3 14 10 IERATE 126
FE6ithE| 1524 14 9-1 IBERARTH 1%&4
Fe6ithE| 15%5 SHIR
E6tthE 15%6 SHIR
Fe6ithE| 15%7 14 8 IERATH 1253
FE6ithE| 15%&8 14 4 IERATH 1%&14
Fe6ithE| 15%9 14 6 IERATH 122
FE6ithE| 15%&10 15 4 i = 1%&17
Fe6ithE| 15%11 15 13-3 BERNETH 126
FE6ithE| 15812 14 2-1 IERATH 112
FE6ithE| 15%13 14 2-3 IERARTHE 128
FEoHhE| 15%14 14 5 IERATH 1%&15
F6ithE| 15%15 14 7 IERATH 1&1
FE6ithE| 15%16 14 9-2 IERATH 185
F6ithE| 16%& 15 5-2 BERNRETH 1220
FEoHhE| 1632 15 5-1 i = 118
F6ithE| 16%3 15 13-3 BERNRETH 126
FEoHhE| 1634 15 5-3 i = 121
FE6ithE| 16%5 15 5-4 BENRETH 1219
FEoHhE| 1781 21 4 ER=TH 10%5
21 2 ERN=TH 10%58
21 5 ERN=TH 10%&9
15 12 ERNAETH 13
15 8 ERETH 1%&23
FE6ithE| 17%2 SHIR
FEoHhE| 1783 15 9 ERETH 1524
FoHE] 1784 15 7 EREATH 1522
FoHhE| 1785 15 11 ERETH 122
FoHE] 1726 21 1 EWN=TH 10%&7
F6ithE| 17%7 21 3 ERN=TH 10%6
FoHE] 1788 15 10 EREATH 11
EoihE| 1759 HIR
FoHE] 17210 16 11 EREATH 2%22
FoHhE| 1781 JHIR
FEoHE] 17812 16 10 ERNAETH 2723
Fe6ithE| 17%13 15 13-2 BERETH 124
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FE6ithE| 17%14 15 13-6 ERAETH 1%8
F6ithE| 17%15 15 13-4 ERETH 127
FE6ithE| 17816 15 13-1 ERETH 1%&5
Fe6ithE| 17&17 15 13-3 BERNETH 126
FE6ithE| 17818 15 13-5 i = 1%&9
Fe6ithE| 18% 21 15 ERN=TH 10%4
E6tthE 18%1 SHIR
Fe6ithE| 18%2 SHIR
FE6ithE| 19%&1 21 14 EWN=TAH 103
Fe6ithE| 19%2 SHIR
FE6ithE| 20% 21 12 EWN=TAH 1082
FE6ithE| 21&1 21 14 EN=TH 10%3
FEoHhE| 2182 16 15 i e = 2%1
F6ithE| 21%&3 16 15 BERNRETH 2%1
FE6ithE| 21%&4 SHE
F6ithE| 21%5 SHIR
FE6ithE| 21%6 SHE
F6ithE| 21%&7 16 15 BERNRETH 2%1
FE6ithE| 21%s8 SHE
FE6ithE| 21%&9 SHIR
FE6ithE| 21%&10 JHIR
FE6ithE| 221 21 14 EN=TH 10%3
FEoHhE| 2282 16 15 ERETH 251
FE6ithE| 22%3 16 14 BENRETH 2725
6t E| 22%4 SHIR
FE6ithE| 22%5 16 12 BENRETH 2721
FE6ithE| 22%6 SHIR
E6tthE| 22%&7 SHIR
FoHhE| 22%38 16 13 ERETH 2724
E6tthE| 24%1 22 4 ERETA 10%&15
F6ithE| 24%2 JHIR
FoHE] 25% 22 4 ERImTAE 10%&15
FoHhE| 26%1 16 17 ERETH 232
E6tthE| 26%&2 SHIR
FoHhE| 271 18 1-2 ERETH 3%4
E6hE 21%2 SHR
Fe6ithE| 2783 16 18-2 BERETH 2%5
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FE6ithE| 27%4 16 18-3 ERAETH 273
FE6HE| 27%5 16 18-1 ERNETH 2%4
EoHnE 27%6 18 1-1 IERETHE 3%5
Fe6ithE| 28%&1 16 8-1 BERNETH 2%17
E ik 28%2 SHR
Fe6ithE| 29%&1 16 8-2 BERNETH 2% 18
EoithZ 29%2 16 17 ERETHE 2%2
Fe6ithE| 30%&1 16 19 BERNETH 2%6
E ik 30%2 16 7 ERETH 2%16
Fe6ithE| INE 16 19 BERNETH 2%6
Eo6ihE| 2% 16 17 JERETHE 272
FE6ithE| 33F 16 19 ERNRETH 2%6
FEoHhE| 34% 15 14 HRETH 1%&10
F6ithE| 35%&1 15 14 BERNRETH 1210
6t E| 35%&3 SHIE
F6ithE| 36&1 15 16 BERNRETH 1212
FE6ithE| 36%&2 15 15 EARTH 11
F6ithE| 36%&3 15 2 BERNRETH 1%&15
FEoHhE| 37&A 15 2 i = 115
FE6ithE| 37%&:2 15 2 BENRETH 1%&15
FE6ithE| 38%&2 15 2 IERETH 1215
FE6ithE| 38%&3 15 14 BENRETH 1210
FE6ithE| 39%&1 13 4-1 IERATH 2%3
FE6ithE| 39%&2 13 4-2 IERARTH 2%5
FE6ithE| 39%&3 14 1 IERATH 19
FE6ithE| 39%4 13 4-3 IERARTH 2%4
6t E| 40% 12 3-1 IERATE 3%&13
EohE| AE:S 14 1 IERATE 1511
FoHhE| 42%1 13 3-1 ERATH 278
FoHE] 4282 13 3-2 IERATH 2%&1
F6ithE| 42%3 13 3-3 IERATE 2%2
EoithE 4351 14 3 IERATE 1513
F6ithE| 43%2 SE
E6tthE| 441 23 3 ERETA 157
F6ithE| 44%2 SE
E6tth B 44%3 SHIR
Fe6ithE| 45%1 23 3 IERETAE 1%&7
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E 45%2 SHR
F6ithE| 45%3 S
FE6ithE| 46%1 23 5-1 ERIETAE 11%6
6t E| 46%2 SHIR
FE6thE| 471 23 1 ERETH 11%14
6t E| 47%2 SHIR
FE6thE| 75%&1 23 2-1 ERETH 11%13
6t E| 75%2 SHIR
F6ithE| 75%&3 13 2 ERATH 2%&7
6B 75%4 12 8-1 IERARTE 3%
FE6thE| 75%&5 12 8-2 IERATH 3%2
6B 75%6 12 8-3 IERARTHE 3%&3
FEoHhE| 15%&7 12 8-4 IERATH 3%4
6B 75%s8 12 8-5 IERARTHE 3%&5
FE6ithE| 75%&9 12 8-6 IERATH 3%6
6B 75%10 23 2-2 ERMETA 1512
FEoHhE| 75% 11 23 2-3 ERETH 11%8
6B 75%12 23 2-4 ERMETA 1110
EoHhE 75%13 23 2-5 ERMETE &N
6t S| 75%14 23 2-6 ENMETE 1159
FEoHhE| 76&1 12 6 ERATH 3%8
6t E| 7672 13 1 IEAARTH 2%6
FEoHhE| 76%&3 12 7-1 ERATH 3&7
6t S| 76%&4 12 7-2 IERARTH 3FE17
FEoHhE| 17%& 12 5 ERATH 3%&9
6t S| 89%&1 12 1-1 IERARTH 3%&16
FE6ithE| 89%2 12 1-2 IERATH 3&15
E6tthE| 90% 1 3 IERATH 439
F6ithE| 915 1 3 IERATE 4%9
FoHE] 92% 11 4-1 IERATH 4%&10
F6ithE| 93%& 12 3-3 IERATE 3%12
E6tthE| 94% 12 3-1 IERATH 3%&13
F6ithE| 95%2 12 3-2 IERATE 3&F 1
FoHE] 95%3 12 3-1 IERATH 3&E13
F6ithE| 95%&4 12 3-2 IERATE 3&F 1
FEoithE 96% 12 2 IERATHE 3%14
1 4-2 IERATH 411
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Fo6ithE| 97% 9 5 HRETH 6739
10 4 ERNETH 732
FE6ithE| 98% 10 6 ERETH &1
Eg 99% 15 1 IERETHE 1514
10 5 i = 1E14
14 12 ERATHE 110
EoithZ 10081 15 17 ERETHE 1513
16 4 ERNETH 2%&10
16 2 i = 2713
16 6 ERNETH 2%&15
9 11 i = 6821
9 13 ERNAETH 6722
FEoHhE| 100%3 16 5 i e = 2%14
9 14 ERNETH 61
FE6ithE| 10084 SHE
F6ithE| 100%6 SHIR
FE6ithE| 100%&7 SHE
F6ithE| 1008 SHIR
FE6ithE| 102%1 SHE
FE6ithE| 10282 9 15 BENRETH 6%2
FE6ithE| 10283 9 12 IERETH 6723
FE6ithE| 102%4 16 3 BENRETH 2% 11
FEoHhE| 102%5 16 1 ERETH 2%12
FE6ithE| 10276 9 10 BENRETH 6720
FE6ithE| 103%1 9 9 ERETH 6%19
FE6ithE| 10332 SHIR
FE6ithE| 104% 9 9 ERETH 6%19
EoithE 10581 9 16-1 IERETHE 6%3
F6ithE| 105%2 9 8 ERETH 6%18
E6tthE| 105%&3 SHIR
F6ithE| 106% 9 17 ERETH 6%5
EoithE 10652 9 18 IERETHE 626
F6ithE| 106%3 9 17 ERETH 6%5
EoithE 10781 7 9-2 IERETHE 5%&11
F6ithE| 10782 9 19 ERETH 6%7
FEoithE 10851 12 4 ERATHE 3%&10
Fe6ithE| 1082 SHIR
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£ 10981 10 9-2 IERETHE 7%6
F6ithE| 10972 9 6 ERETH 6% 15
EoHnE 10983 10 9-1 IERETHE 7%&S
6t E| 110%1 9 7-1 BERNETH 6716
E6tthE 11082 SHIR
6B 1% 9 7-2 BERNETH 6% 17
EoHE 1128 10 9-2 ERETHE 756
6t E| 113% 9 8 BERNETH 6%18
EoHE 11382 9 16-2 IERETHE 6%4
6B 113%3 10 7 BERNETH 7%&3
EoHE 1148 10 8 ERETHE 1%E4
6B 115%1 10 3-1 ERNRETH 7%9
EoHE 115%2 10 3-2 EERETHE 7&10
6B 115%3 10 3-3 BERNRETH 7E 1
EoHhE 115%4 10 3-4 EERETHE %12
6B 11651 10 3-4 BERNRETH 112
FEoHhE| 116%2 10 3-5 i = 7E13
6B 175 1 7 IERATH 474
ot E| 1181 11 8 IERATH 4%5
£ 118%2 11 7 IERATHE 4%4
ot E| 118%&3 11 2 ERATH 4%8
6t S| 119% 4 6-2 IERATH 5%38
ot E| 120%&1 4 8-4 ERATH 5%&3
£ 120%2 4 8-1 IERATHE 5&1
FEoHhE| 120%3 4 8-2 ERATH 5%2
6t S| 120%4 4 8-3 IERARTH 5%4
FE6ithE| 158%1 1 1 IERATH 47
FoHE] 158%2 4 6-2 IERATH 578
F6ithE| 158%3 4 6-1 IERATE 5%&7
FoHE] 158%4 4 7 IERAARTH 575
F6ithE| 15875 4 6-3 IERATE 5%6
FEothE| 159%&1 4 5 ERATH 5%&9
F6ithE| 15972 4 4 IERATE 5%10
FEothE| 159%&3 4 4 ERATH 5%10
F6ithE| 160%1 5 6 ERETH 8%20
E6tth B 16032 SHIR
Fe6ithE| 16073 10 2 BERETH 1E&7
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E6ihE 160%4 HIR
F6ithE| 16181 11 9 IERATH 436
FE6ithE| 161%2 10 1 ERETH 7%&8
Fe6ithE| 162% 9 2 BERNETH 6% 12
EoihZ 1638 9 2 IERETHE 6%12
Fe6ithE| 164%1 9 1 BERNETH 6713
FE6ithE| 16422 SHIR
Fe6ithE| 165%1 7 10 BERNETH 5%10
EoihZ 16582 9 3 IERETHE 611
Fe6ithE| 166%1 7 9-3 BERNETH 5%9
E6tthE 16632 SHIR
FE6ithE| 166733 7 9-2 ERNRETH 5% 11
FE6ithE| 167% 9 2 EARTH 6%12
F6ithE| 168%1 5 10 BERNRETH 8%&1
FE6ithE| 168%2 SHE
F6ithE| 170%1 5 9-2 BERNRETH 8% 24
FEoHhE| 17082 5 7 i = 8%&21
F6ithE| 171% 5 7 BERNRETH 8% 21
FE6ithE| 172% 5 9-1 EARTH 8%&23
FE6ithE| 173%1 5 3-1 BENRETH 8% 10
FE6ithE| 173%:2 5 3-5 IERETH 8& 11
FE6ithE| 173%3 5 8 BENRETH 8% 22
EoHE 173%4 5 11 ERETH 822
FE6ithE| 173%5 SHIR
FE6ithE| 173%6 JHIR
FE6ithE| 173%7 SHIR
FE6ithE| 173%s38 5 3-2 ERETH 8&14
EoithE 17389 5 3-5 IERETHE 8&11
F6ithE| 173%10 5 3-3 ERETH 8%15
EoithE 173811 5 3-6 IERETHE 8%16
F6ithE| 173812 5 3-4 ERETH 8&17
EoithE 173813 5 5-2 IERETHE 8%4
F6ithE| 174%1 5 3-4 ERETH 8&17
FoHE] 174%2 5 3-7 EREATH 8%&18
F6ithE| 174%3 5 3-8 ERETH 8&19
FEoHE] 174%4 5 3-9 ERNAETH 8%&13
Fe6ithE| 175%1 5 5-3 BERETH 8%5
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FE6ithE| 175%2 5 4-2 ERAETH 8%&7
F6ithE| 17632 SHIR
FE6ithE| 177&1 2 1 ERETH 9%&3
Fe6ithE| 17782 2 2 BERNETH 9%2
E6tthE 17783 SHIR
Fe6ithE| 178%1 2 3 BERNETH 9%&1
E6tthE 178%&2 SHIR
Fe6ithE| 178%3 SHIR
EoHE 17884 5 1 IERETHE 8%9
Fe6ithE| 178%5 5 2 BERNETH 8%8
EothE 17981 2 1 IEANRTH 983
FE6ithE| 179%2 SHIR
FEo6ihE| 17923 2 1 JERETHE 973
F6ithE| 180% 3 4 IERATH 6%6
FE6ithE| 18152 3 5 IERATH 675
F6ithE| 18183 3 5 IERATH 6%&5
FE6ithE| 181%6 SHE
F6ithE| 18187 4 1 IERATH 5%&13
FE6ithE| 18188 4 2 IERATH 5%12
FE6ithE| 18189 4 3 IERATH 5% 11
FE6ithE| 18110 3 6 IERATE 61
FE6ithE| 181& 1 3 7 IERATH 6%2
FEoHhE| 181%12 3 8-1 ERATH 654
FE6ithE| 181813 4 4 IERATH 5%&10
Eo6ihE 181814 3 4 IERATE 636
FE6ithE| 181815 4 6-2 IERARTH 5%38
FE6ithE| 181816 3 8-2 IERATE 673
FEothE| 183%&1 3 3 ERATH 637
F6ithE| 183%3 JHIR
E6tthE| 183%&5 SHIR
F6ithE| 183%6 3 2 IERATE 68
F104hE] 104% SHIR
10 E| 105%&1 27 9 ERN=TH 9%2
F104hE] 105%&2 SHIR
10 E 105%3 27 9 ERN=TH 9%2
F104hE] 105%&4 SHIR
F10thE| 1078 SHIR
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F104hE] 114%1 48 2-1 EWN=TAH 1E&3
F10thE] 11435 48 2-2 BERN=TH 1%2
10t E| 126%1 48 3 ERN=TH &1
F10thE] 126%2 SHIR
10 E| 12781 44 8 IEN=TH 4318
F10thE] 12782 SHIR
F10thE] 1273 49 2 B7EMTH 64%19
F10thE] 128% 50 2 w7 EMTH 63%&1
F10thE] 129% 50 1 B7EMTH 63%2
F10thE] 130% 49 1 w7 EMTH 647%20
F10thE] 131%1 49 7 B7EMTH 64%11
E10HhE| 13183 49 4-1 w7 EMTH 647%15
F10thE] 13154 JHIR
E10HhE| 13185 SHIR
10t 131%6 49 7 B7EMTH 64%11
E10HhE| 13187 42 5-1 EN=TH 5%&15
F10tthE| 13158 49 6 B7EMTH 64712
E10HhE| 13189 49 5-1 w7 EMTH 647%14
E 10 E 13110 42 6 IER=TH 581
E10HhE| 1318 N 49 9 B EMTH 64%17
F10tthE| 131812 49 4-2 m7EMTH 64716
E10HhE| 131813 49 5-2 B EMTH 647%13
F10tthE| 1441 43 12 JER=TH 6256
E10HhE| 14482 43 13 EN=TH 6%&7
F10tthE| 14423 49 10 m7EMTH 6476
E10HhE| 144%10 51 2 B EMTH 65%&1
10t E| 144% 11 SHIE
F104hE] 144%12 51 1 wyEMTHE 65%2
10 E| 145% 42 5-1 ERN=TH 5%15
F104hE] 146%2 49 8 wyEMTHE 64%8
10 E| 146%3 49 3 B EMTH 647518
F104hE] 146%4 53-1 2 ERNZTH 9%2

22 14 ERETH 108

F104hE] 146%5 49 10 wyEMTHE 64%6
10 E 146%6 49 10 BmYyEMTH 6476
F104hE] 146%8 49 10 wyEMTHE 64%6
F10thE| 14782 SHIR
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E11thE] 8&1 65 1 AXEH—TH 150% 11
F11thE 8%&2 65 1 AXH—TH 15011
F111thE 8%&3 HIR
F11thE 8%4 65 1 AXH—TH 15011
F11thE] 8%&b5 65 1 XKH—TH 150% 11
ERE:CE 8%&6 HR
F11thE] 8%&7 65 1 XKH—TH 150% 11
ERRE:CE 8&s HIR
F11thE] 8%&9 65 1 XKH—TH 150% 11
F11thE] 10&1 62 2-3 BAZTH 5%&1
FE11HhE 10%2 SHIR
E11HhE| hE:S 62 2-3 EAZTH 5%&1
F11HhE] 12% 62 2-3 IEWZ=TH 5%&1
E11HhE| 13% 62 2-3 BEAZTH 5%&1
FE11HE 1481 64 4-1 JERZ=TAH 1%8
E11HE| 14%2 64 3-3 IENZ=TH 1884
F11thE| 1433 64 3-2 IEWZ=TH 1%6
E11HhE| 14%4 64 4-2 ER=TH 127
F11thE] 1582 62 1 IEWZ=TH 5%5
E11HhE| 15%3 66 3 AHZTH 154210
F11thE| 15%4 62 1 IEWZ=TH 5%5
E11HhE| 15%5 64 1 ERZTH 1&1
F11thE 156 64 3-1 IEWZ=TH 185
E11HhE| 16% 62 1 ERZTH 5%5
F11HhE] 17% 64 3-1 IEWZ=TH 185
F114hE] 1981 62 2-1 ENZ=TH 5%&4
F11HhE] 19%&2 64 3-1 IEWZ=TH 185
F11HhE] 20% 62 2-3 ERNZTH 5%1
E11HhE] 211 62 2-2 IEWZ=TH 5%3
F11HhE] 21%&:2 SHIR
E11HhE] 2183 62 2-3 IEWZ=TH 5%&1
F11HhE] 21%&4 SHIR
E11HhE] 2185 JHIR
F11HhE] 21%6 62 2-4 ERNZTH 5%2
F11HhE| 22%A1 64 2-1 IEWZ=TH 123
F11HhE] 22%2 65 3 AXEH—TH 150%6
FE11thE 22%3 66 7 AHZ=TH 154213
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FE11HhE 22%4 64 2-2 IERNZ=TH 1882
F11thE 23% 63 3 IERZ=TH 21

63 2 EWZ=TH 272
ERRE:CE 24% 61 6 ERZ=TH 3&1
F11uE 25% 61 6 JERZ=TAH 3%1
F11thE] 28%&1 SHIR
FE11HhE 28%2 SHIR
F11thE 28%3 SHIR
F11uE 29%A1 61 5 JERZ=TAH 3%&2
F11thE] 29%:2 61 4 BAZTH 3%&3
F11uE 29%3 61 8 ER=TH 3& 11
E11HhE| 29%4 61 5 EAZTH 3%2
FE11ithE 29%5 61 5 ERZTH 3%2
E11HhE| 29%6 SHIR
F11HhE] 30%&1 61 3 IERZ=TH 3%4
E11HhE| 30%&:2 SHIR
F11thE| 31&1 55 21 JERZ=TAH 715E12
E11HhE| 31&:2 SHIR
FE11HE 31&3 SHE
E11HhE| 31&4 SHIR
E11E 321 60 12 IER=TH 41
E11HhE| 32%2 SHIR
F11thE 32%3 JHIR
E11HhE| 32%4 SHIR
F11HhE] 33%&1 61 2-4 IBERN-TH 3%&9
E11HhE| 33%:2 61 2-1 ERZTH 3%5
FE11HE 33%&3 61 2-2 IERZ=TH 3%&7
F11HhE] 33%4 61 2-3 IENZTH 378
F11HhE| 341 60 10-1 IEWZ=TH 433
F11HhE] 34%&2 60 9 IEN=TH 436
E11HhE] 3473 60 8 IEWZ=TH 4%

60 5 IENZTH 4%&10
E11HhE] 34%4 JHIR
F11HhE] 34%&5 SHIR
ERE: k] 34%6 60 10-3 IEWZ=TH 454
F11HhE] 34%&7 60 10-2 IENZTH 4385
FE11thE 35%&1 60 6 EAZTH 479
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F11HhE] 35%&2 SHIR
F11thE 35%&3 SHIR
FE11HhE 36%&1 60 7 IERNZ=TH 4358
F11thE 36%&2 SHIR
F11HhE] 36%&3 SHIR
F11thE] 37&1 60 7 BAZTH 478
F11HhE] 37%&:2 SHIR
EREE 38% 60 11 ERN=TH 452
FE11HhE 39%& 60 1 IERNZ=TH 4352
F11thE] 40%& 61 2-5 BAZTH 3% 10
F11uE M%E 61 2-5 ER=TH 3%&10
E11HhE| 42% 61 2-5 EAZTH 3% 10
F11thE] 43% 61 2-5 ERZ=TH 3%&10
E11HhE| 44% 61 7 BEAZTH 3%F12
FE11HE 5971 59 3 IERZ=TH 4%19
E11HhE| 59%2 60 2 BEAZTH 4716
E111thE 60% 60 4-1 ERZTH 4312
E11HhE| 61%& 60 4-2 IENZ=TH 4EN
F11thE| 63%1 56-2 9 IEWZ=TH 6& 11
E11HhE| 63%&2 SHIR
FE11HE 6373 JHIR
E11HhE| 63%4 SHIR
F11ihE| 63%5 59 2 JENZ=TH 4818
E11HhE| 63%6 60 1-1 ERZTH 4815
E11HE 63%7 60 1-2 IER=TH 4314
F114hE] 64% 59 1-2 ENZ=TH 4E17
59 1-3 IERNZTH 4320
F11HhE] 65%1 59 1-1 IENZTH 421
E11HE 65%2 JHIR
F11HhE] 1071 66 5-2 AXEHZ=TH 153%&3
EREE 107%&2 66 5-1 AEZ=TH 15381
F11HhE] 107%&3 66 4-3 AXEHZ=TH 15476
E11HhE] 107&4 65 4 AXH—TH 15025
F11HhE] 1075 65 8 AXEH—TH 150%&1
ERE: k] 107236 JHIR
E11HhE 107848 66 4-4 AH=TH 158%
FE11thE 107249 SHIR
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F11uE 10750 66 4-4 AXEZ=TH 158%
F11thE 107851 SHIR
F11uE| 107852 66 5-4 AXEZ=TH 153%&5
F11thE 107253 SHIR
F11tthE| 107255 65 7 XKH—TH 15082
F11thE] 107556 65 6 AXH—TH 150%&3
F11tthE| 107%&57 65 5 XKH—TH 15084
F11thE 107258 66 6-1 AH=TH 157%
F11uE 107259 66 6-2 AHZTH 15421
F11thE] 10760 66 6-3 AH=TH 1542
F11uE 10761 66 6-4 AHZTH 15484
E11HhE| 10762 66 6-5 AXBEZ=-TH 1545
F11thE| 107263 66 6-6 AEHZTH 154%&3
E11HhE| 107864 66 5-3 AHE=-TH 153%4
F11HhE] 10765 66 4-4 AEZ-TH 158%
E11HhE| 10766 66 4-4 AHE=-TH 158%
F11HhE] 107%67 66 4-2 AEHZTH 154%&38
E11HhE| 10768 66 4-1 AHE=-TH 15429
F11HhE] 107269 66 4-4 AEZ-TH 158%
E11HhE| 107870 66 5-5 AHZTH 153%6
FE11HhE] 107&71 66 4-1 AEHZTH 15429
E11HhE| 107872 66 5-7 AHZTH 15382
FE11HhE] 107%73 66 4-5 AEHZTH 154%&7
E11HhE| 107874 66 5-6 AHZTH 153%&7
FE12hE| 151 28 8-1 ER=TH 1154
E124hE| 122 28 6-1 EN=TH 1%&7
F12thE] 123 JHIR
F124hE| 124 28 8-2 IEN=TH 1&3
F121hE| 125 28 7 ERN=TH 11%&5
28 5 EWN=TH 11%8
F121hE| 126 28 6-2 ERN=TH 11%6
F124hE| 17 SHIR
F121hE| 2%&1 28 6-1 ERN=TH 11%&7
F124hE| 2%2 28 6-1 IEN=TH 1%&7
F1210E| 2%3 SHIR
H12tE 2%&4 SHR
F12tthE| 3F1 28 9 BERN=TH 1159
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#HX Eiih ez
F e HF4 i
12t E| 3%2 28 4 EWN=TAH 11210
F12tthE| 3%&3 SHIR
121t E) 4&1 HIR
121t 4%2 28 9 IER=TH 1189
E12ihE 4%s3 SHiR
E121thE 5%&1 HR
F12thE| 5%2 28 9 HR=TH 1159
E121thE 5%3 HIR
E12ihE 6% 1 SHiR
F124hE| 6%2 20 4 ERN=TH 12%&11
F121hE| 6%3 SHIR
F124hE| 6%4 28 10 EN=TH 11%14
F124thE| 6755 28 9 IEW=TAH 1%9
F124hE| 6%6 28 10 EN=TH 11%14
F12thE| 6%&7 28 10 IEW=TAH 11514
F124hE| 6%8 28 3 EN=TH 11&11
F12thE| 679 20 4 IEW=TAH 12211
F124hE| 6% 11 20 9-1 EN=TH 12%6
F121thE| 6512 28 1 IEW=TAH 1113
E124hE| 6%13 49 12-1 B EMTH 64%&1
121 E| 6% 14 49 12-2 B7EMTH 6472
49 12-3 BEyEMTH 64%3
F124hE| 6%&18 20 4 JER=TH 12211
E124hE| 6719 20 5-2 EN=TH 12%1
F12HhE| 6320 20 4 JEN=TH 12211
E124hE| 6721 20 6 EN=TH 12%2
F12thE] 67322 JHIR
F124hE| 6723 28 2 IEN=TH 1512
121t % 6%&24 HIR
F124hE| 6725 SHIR
121t % 6%26 HIR
F124hE| 6327 20 5-1 IEN=TH 12%12
F121hE| 6728 20 9-2 ERN=TH 12%5
F124hE| 11 20 3 IEN=TH 12%10
F1210E| 12 SHIR
F124hE| 871 20 8 IEN=TH 12%4
F12tthE| 8%&2 SHIR
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F e HF4 i
12t E| 8%&3 20 7 EWN=TAH 12%3
E121thE 8%&4 HIR
121t E) 8%&S5 HIR
121t 9% 20 1 IER=TH 1288
F12thE| 9% 1 20 2 HR=TH 12%9
E121thE 9%&2 HR
F121hE| 9%3 SHIR
F12thE| 10&1 18 4 BERNETH 3%9
F12thE| 10%2 22 16 ERETH 10%10
F124hE| 1&1 22 4 ERMTAE 10%15
F12thE| 11%2 22 4 ERETH 10%&15
F124hE| 1153 22 4 ERMETE 10%15
F121hE| 11%&4 S
F124hE| 12%1 18 5 BERNRETH 3%
F121hE| 12%2 SHE
F124hE| 12%3 18 3 BERNRETH 3%8
F121thE| 12%4 18 3 i = 3%8
F124hE| 12%5 18 3 BERNRETH 3%8
F12thE| 1276 JHIR
E124hE| 13%1 17 3 BENRETH 41
F12hE| 13%:2 16 20 JERETH 2%&7
E124hE| 13%3 18 6 BENRETH 3%2
121 E| 13%4 17 2 IERETH 432
E124hE| 13%5 SHIR
E121hE 13%6 HI
E124hE| 13%7 SHIR
E121hE 13%38 HI
F124hE| 13%9 SHIR
F12thE| 13%10 18 2-1 ERETH 3%&7
F124hE| 13%& 1 18 2-2 HRETH 3%6
F12thE| 13%12 18 2-3 ERETH 3%3
F124hE| 1481 16 22 HRETH 2%&9
F12thE| 14%2 16 21 ERETH 278
F124hE| 1433 9 15 HRETH 6732
F1210E| 1434 SHIR
F124hE| 14%5 SHIR
F12tthE| 14%6 16 21 BERETH 2%8
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F121thE) 14%&7 SHiR
F12tthE| 14%8 SHIR
121t E) 14%&9 HIR
F12thE| 14%10 SHIR
F121hE| 1411 SHIR
F124hE| 14%12 SHIR
F121aE 15%&1 9 4-2 HRETH 6210
F12thE| 15%2 7 13-1 BERNETH 5%4
F1214aE 15%&3 7 14-1 HRETH 5%&1
F124hE| 15%4 7 14-2 BERNETH 5%23
F121aE 15%&5 9 4-2 HRETH 6210
F124hE| 15%6 17 1 ERNRETH 433
F12thE| 15%7 JHIR
F124hE| 15%8 SHIR
F12thE| 1529 JHIR
F124hE| 15%10 SHIR
F12thE| 15%& 11 7 11 i = 5%8
F124hE| 15%12 SHIR
F12thE| 15%13 JHIR
E124hE| 15%14 SHIR
F12tthE| 15%&15 9 4-1 ERETH 6% 14
E124hE| 15%16 7 13-2 BENRETH 5%2
F12hE| 15%&17 7 13-3 JERETH 5%&5
E124hE| 15%18 7 13-4 BENRETH 5%3
F12thE] 161 7 12-1 ERETH 5%&7
E124hE| 16%2 7 9-1 BENRETH 5%&12
E121hE 16%&3 HI
F124hE| 1634 7 12-2 HRETH 576
F121hE| 16%5 7 9-2 ERETH 5%11
F124hE| 1781 7 7 HRETH 5% 14
F121hE| 17%2 45 9 ERN=TH 2%5

7 6 EREATH 5%&15
F121E| 1733 SHIR
F124hE| 18%& 7 7 EREATH 5% 14
F12thE| 1981 7 8 ERETH 5%13
F124hE| 19%2 7 8 HRETH 5%&13
F12tthE| 19%3 SHIR
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2 e yFEs %
F12tthE| 19854 SHIE
F12tthE| 19%5 SHIR
F12tthE| 20%1 7 2-1 ERETH 5%20
F12ihE| 20%:2 7 3 IERETH 5%18
F12tthE| 20%3 SHIE
F12ihE| 20%4 7 4 IERETH 5%17
F12tthE| 20%5 7 5 ERETH 5%&16
F12ihE| 2076 SHIR
F12tthE| 20%7 SHIE
F12ihE| 2078 SHIR
F12tthE| 20%9 5 4-1 ERETH 8&12
F12ihE| 20%10 5 5-1 IENEAETH 8%6
F121hE| 20%&11 7 2-3 IEREAETH 5%&19
F12ihE| 20%12 7 2-2 IENAETH 5%&21
B EMTH 15%5 58 1 ERZTH 21%
Bm7EMTH 15%15 SHIE
B EMTH 16%1 58 1 ERZTH 21%
Bm7EMTH 18%3 58 1 IEN=TH 218
22 15 IERETAE 1089 Rkt
61 1 ERZ-TH 3%6 REH
60 3 ERZTH 4313 REH
57 1 ERZ-TH 675 REH
54 2 ERZ-TH 8&10 REH
54 9 ERZ-TH 8%&18 REH
52 16 ERZTH 10%&2 REH
46 1 IEN=TH 1812 REH
41 2-4 IBERN=TH 3%&3 RE
41 2-3 IEN=TH 3&4 REH
41 2-2 ER=TH 3&S5 fRE
41 2-1 IEN=TH 376 REH
44 12 ER=TH 4%4 fRE
42 5-2 IEN=TH 5%&16 REH
28 1 ER=TH 1182 fRE
20 10 IEN=TH 127 REH
39 2 EAETHE 129 REH
37 3-1 ERMTHE 2713 REH
37 3-2 ERAETA 2%&14 fRE
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F e HF4 i
37 3-3 IEAMETE 2%15 REH
33 1 ERETHE 4710 fREEHh
24 2 IEAMETE 7%10 REH
25 5 ENETH 82 fRERHh
22 13 ERMTA 10%&7 REH
16 9-1 ERNETH 2%&19 {RERHh
16 9-2 IEANRTH 2720 REH
7 1 ERNETH 5%&22 fRERHh
9 20 EANRTH 67%8 REH
5 12 ERNETH 8%3 {RERHh
1 6-3 IERATH 472 REH
1 6-1 IEAARTH 433 fREE
1 6-2 IERATH 4812 fREH
3 1 ERATH 679 fRE2
49 11-5 Bm7EMTH 6474 fREH
49 11-4 BE7EMTH 6475 fRE2
49 11-3 Bm7EMTH 6477 fREH
49 11-2 BE7EMTH 6479 fRE2
49 11-1 B7EMTH 64710 fREH
66 1 AHZTH 154212 REH
ER—TH 108% NS
IENZ=TH 5%6 AFF
IEWZ=TH 1% NS
BN=TH 12% AR
ERAZTH 13%F AR Yzh
IENZ=TH 14% AFF
ERAZTH 15% AR Yzh
IENZTH 16%% A SR
JERZTH 17% AR Ych
IENZTH 18%% A SR
JERZTH 19% AR Ych
IENZTH 20% A SR
IEWZ=TH 22% NSt
IENZTH 23% A SR
IEWZ=TH 24% NSt
IENZTH 25% A SR
IEWNZ=TH 26% NSt
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#HX Eiih i ez
¥ e HF4 i
IEWNARTHE 1% AEE)
ENATH 8&E A gathiil
EWNATHE 9% AEE)
ERATH 10% A gch il
ERATH IRE:S R Yzh
ERATH 12% AR gch
IERATH 13% A S
ERATH 14% A gch il
ERATH 15% A S
ERATH 16% AR gch
ByEMTAH 66 R Ych
B7EMTH 67% AEagech i
ByEMTAH 687 AR Yzh
B7EMTH 69% AEagech
ByEMTAH 70%F AR Yzh
AH—TH 151% YAE gzl
AEHZ=-TH 155% AL
AXEHZTH 1562 YAE gzl
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